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m = 3  n = 2 

: 
1. AX AB 

2. AX 5(= m + n) A1, A2,  A3, A4  A5

AA1 = A1A2 = A2A3 = A3A4 = A4A5. 
3. BA5

4. A3 (m = 3), A5B (AA5B 
) A3 AB 

C AC : CB = 3 : 2. 
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C; AB 3 : 2 

: 
1. AB AX

2. AX BY ABX 
ABY 

3. AX A1, A2, A3 (m = 3) BY 
B1, B2 (n = 2) 
AA1 = A1A2 = A2A3 = BB1 = B1B2. 

4. A3B2
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AC : CB = 3 : 2 
AA3C ; AB2C ( ?) 

       BC
AC

BB
AA

2
3 

, 2
3

BB
AA

2
3  , 

, 2
3

BC
AC 

 

(i) 
1 

(ii) 
1 
  

Ex.1  ABC AB = 4 cm, 
BC = 5 cm  AC = 6 cm ABC 

ABC 
-

Sol.  
I : AB = 4 cm 

II : A = AC = 6 
cm 

III : B 
= BC = 5 cm 

-II C 

IV : ABC  AC  BC 

V : AB BAX 
VI : AX , (2/3 2 3 
) A1, A2, A3 

AA1 = A1A2 = A2A3 
 VII : A3B 
 VIII : 
ABC -

A2 AX 
A2B' || A3B AB B' 

C 
C ' 

BB ' A 
A1 

A2 
A3 

X 
IX : B' B'C' || BC AC C' 

AB'C' 
ABC 

: B'C' || BC. 
, ABC ~ AB'C' 
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 m < n 

m > n. 
I : 

II : 
AB 

III : AB A AB 
C 

BAX 
IV :   AX AX m(m 

n ) A1, A2,...,Am 
AA1 = A1A2 = ….. = Am–1Am. 

V : An B Am 
AnB 

B' 
VI :  B' BC 

AC C' 

C 

C' 

A B B' 
A1 A2 

An 
Am 

X

VII : AB'C' 
: 

ABC AB'C' 
BAC = B'AC' 

ABC = AB'C'     [ B'C' || BC] 
AA , 
ABC ~ AB'C' 
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Ex.2 ABC BC = 7 cm, 
  B = 45º, A = 105º 

ABC (4/3) 

Sol.  ABC 

I : BC = 7 cm 
II : B CBX = 45º C 

BCY = 180º – (45º – 105º) = 30º  
BX CY; A  ABC 

ABC 

I : ABC A B 
CBZ 

II : BZ (4/3 4 3 ) 
B1, B2, B3, B4 
BB1 = B1B2 = B2B3 = B3B4



III : B3 C B4 
B3C 

BC C' 
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A A' Y 

B 45° 30°
B1 B2 

B3 
B4 Z 

C' C 

IV :  C' CA 
A' 

BA . 
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Ex.3 ABC 
ABC 

(6/7)th 
AB = 5 cm, AC = 6 cm  BC = 7 cm 

Sol.  
I : BC = 7 cm 

II : B 
AB = 5 cm 

III : C 
AC = 6 cm II 

A 

B

A A´ 

C´ CB1 B2 B3 B4 B5 B6
B8 B7 

IV :  ABC AB AC 

V : BC CBX 

VI : BX B1, B2, B3, 
B4, B5, B6, B7 
BB1 = B1B2 = ...... = B6B7

VII : B7C 
 VIII : 

ABC 
(6/7)th B6 B 7 6 

B6C´ || B7C BC 
C´ 

IX : C´ C´A´ || CA BA 
A´ A´BC´ 

ABC 
(6/7)th 

Ex.4  ABC AB = 4 cm 
CL = 3 cm ABC ADE 

ADE ABC 
3/2 

Sol.  
I : AB = 4 cm 
II : ABP = 60º 

4 cm 
6 cm 

60°
B D

C G
P E

H 

A 

III : GH || AB, 3 cm 
BP C 

 IV : CA 
, ABC 



 Edubull

V : AB D 
AD = 3/2 AB = 


  42

3 cm = 6 cm 
VI : DE || BC AC E 

ABC ADE 
ABC 

3/2 
: DE || BC, 

ADE ~ ABC
 2
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P

O

T T´ 
I : O 

II : P 
III : OP 
IV : OPT = 90º 
V : TP T

TPT
   

Ex.5 O O 
3 cm 

P P 
Sol.  

I : O 3 cm 

 II : P OP 

T

T´ 

PO

III : OPT = 90º 
 IV : TPT' 
 PT T

Ex.6 O 4 cm 
4 cm P Q 

Sol.  
I : O 4 cm 

II : POQ 
III : PQT = 90º 

T

T ' 

QOP

IV : TQT' 
TQ T





MP O

Q

Q
1. P 

2. OP
3. OP M 

4. M  = PM = MO 
5. PO Q 

Q' 
6. PQ  PQ 
7. P

PQ  PQ
PQ = PQ

  
Ex.7 3 cm 

5.5 cm P 

Sol.  
I : O 3 cm 

II : O 5.5 cm P 
OP 

III : OP 
OP Q 

T ' 

T

OQ P

IV : Q OQ = PQ 
T 

T´ 
V : 

PT  PT´
Ex.8 6 cm 

4 cm 

Sol.  : 
I : O 

OA = 4cm OB = 6 cm 

II : OB C 
OC = BC

4 cm P Q 

P

O

Q

B A C 

III : 6 cm B 
BP  BQ 

, 
BP = BQ = 4.5 cm 

: BPO 
      OB = 6 cm  OP = 4 cm 
OB2= BP2 + OP2



[ ] 
BP = 22 OPOB           
 BP = 201636  cm  
= 4.47 cm ~ 4.5 cm   

, 
  BQ = 4.47cm ~  4.5 cm 

Ex.9  5 cm
60º 

Sol.  

I : O 
OA = 5 cm 

II :  OA  B 
OA = AB = 5 cm  

III : A AO=AB = 5 cm 
I 

P Q 
IV : 

BP  BQ 

O

P

B

Q

A 
60° 60° 

30° 
30° 

60° 30°

: OAP ,  
OA = OP = 5 cm (= ) , 
AP = 5 cm (= A ) 
 OAP 
 PAO = 60º 

 BAP = 120º 
BAP , 

BA = AP  BAP = 120º 
 ABP = APB = 30º 

   PBQ = 60º
Ex.10  3 cm 

60º 
Sol.  

I : O = 3 cm 

II : AOB 
III : BOC = 60º 
OC C 
IV : AM  AB CN OC 

AM  CN P 

, PA  PC 
60º 

A O
B

N
M
P

60° 

60°

: AOC = (180º – 60º) = 120º 
OAPC ,  

OAP = 90º, AOC = 120º, OCP = 90º.  
APC = [360º – (90º + 120º + 90º)] = 60º. 




